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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1670 2.8 1.6 5 55.7 99.8
2 1668 2.5 0.9 3 82.6 99.6
3 1667 2 1.4 4 50.2 99.6
4 1668 2.1 0.9 3 70.7 99.6
5 1671 6.6 2.5 10 66.2 99.8
6 1670 3 1.1 4 74.9 99.8
7 1667 5 1.8 8 62 99.6
8 1651 4.2 1.9 8 52.6 98.6
9 1652 2.9 1.4 5 58.9 98.7
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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(b)	 Explain why the data shown in figure 2 might lead to higher economic growth in China.
[4]
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Sticky Note
This answer did not go on to say how the increased productivity would lead to increased economic growth/higher productive capacity in the economy. Two marks were awarded for linking investment in capital goods to productivity.
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Sticky Note
The candidate needed to refer to the resultant increase in productive capacity arising from higher productivity.  Two marks were awarded for showing that investment as a component of aggregate demand will increase national income.



Date Generated: 22/07/2014 12:37



Date Generated: 22/07/2014 12:37

Sticky Note
A good answer showing the links between higher spending on capital goods, resulting in higher productivity and thus increased productive potential. The candidate clearly understood the processes at work here and was rewarded for it.
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8. JOBCENTRE REPORTS 2,000 JOBS ON OFFER IN HULL, BUT NO TAKERS

Jobseekers and employers are being urged to be less choosy as new figures show more than
2,000 vacancies are going unfilled in Hull.

The city has some of the highest rates of unemployment in the country, with 8.3 per cent of the
population claiming jobseeker’s allowance, more than double the national average of 3.8 per
cent.

Source: Hull Mail, 13th November 2012

UK’s top 10 most difficult jobs to fill in 2011

1. Engineers
2. Chefs/cooks
3. Management/executive
4. Sales representatives
5. Drivers
6. Technicians
7. Skilled trades
8. Teachers
9. Accounting and finance staff

10. IT staff
Source: Daily Telegraph, 19th May 2011

How effective might supply side policies be in solving the economic problems identified in the 
data?	 [8]







Sticky Note
Some use of the data applied to supply side policy.



Sticky Note
Use of theory.

Sticky Note
There is an understanding of supply-side policies and two such policies were explained cutting benefits and training and education. This gave the candidate 4 marks maximum because there was no evaluation.







Sticky Note
Good use of theory and a relevant diagram.



Sticky Note
The candidate shows an understanding of supply side policies  with a useful diagram and two policies are identified with good data reference. This gains 4 marks but the evaluation is very weak and only worth 1 mark giving a total of 5 marks.







Sticky Note
Understanding of supply side policy.



Sticky Note
More development here.

Sticky Note
More development here.

Sticky Note
This is a good answer with a good understanding of supply side policies shown and good examples of such policies coupled to data references. There is also a decent attempt at evaluation but the answer was not quite worth 8 because the points made in evaluation could have been developed a little more. Hence 4 marks for showing the potential benefits of supply side policies and 3 marks for evaluation.
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9. The diagram below shows a £5 tariff being imposed on an imported product with a world price
of £15.

(a)	 By how much will imports fall as a result of the tariff?	 [1]

(b)	 What will be the government’s revenue as a result of the tariff?	 [1]

(c)	 With reference to the diagram, explain how domestic producers might benefit from the 
imposition of tariffs.	 [3]
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Sticky Note
The candidate gains 2 marks for explaining how domestic producers will benefit from the tariff but does not gain the full 3 marks because there is no direct reference to or use of the diagram.

Sticky Note
Correct answer.

Sticky Note
Incorrect answer.





Sticky Note
This answer is worth 3 marks because there is explicit use of the diagram supporting the explanation that domestic firms will see an increase in revenue and profits as a result of the rise in price arising from the imposition of the tariff.

Sticky Note
Incorrect answer.

Sticky Note
Correct answer.





Sticky Note
This answer is worth 3 marks because the diagram is used effectively to show how domestic producers benefit from the tariff. Domestic producer output rises (use of the diagram) and as a result of less foreign competition their profits rise.


Sticky Note
Correct answer.

Sticky Note
Correct answer.
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GCE ECONOMICS - EC1 


MARK SCHEME - SUMMER 2014 


Question Answer 
Mark 


allocation 
Assessment 


objective 


1 (b) Explain why the data shown in figure 2 might lead to 
higher economic growth in China. 


Candidate explains that high numbers of capital goods 
will increase productivity or will increase the stock of 
factors of production. (2) 


Therefore with higher productivity/more FoPs, the 
potential of the economy will be greater, PPF/AS will shift 
outwards etc. (2)  


Also: increased production of capital goods implies higher 
investment. Hence AD will increase which will create 
actual growth/rising GDP. (2) 


Good use of data/diagrams will support the quality of the 
answer. 


4 AO1 1 
AO2 1 
AO3 2 
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Question Answer 
Mark 


allocation 
Assessment 


objective 


8  How effective might supply side policies be in 
solving the economic problems identified in the 
data? 
 
Definition/understanding of supply side policies. (1) 


 
Explanation of how labour market policies might lead to 
reduced unemployment up to 3 marks per well-developed 
point: 


 
Education/training. 
 
Better information systems/IT/internet, etc. about 
vacancies. 
 
Welfare reform-effect on incentives to work. 
 
Tax reform- effect on incentives to work. 
 
Increase in the national minimum wage. 
 
Better infrastructure will enable workers to get jobs 
elsewhere/encourage firms to come to take advantage of 
high unemployment. 
 
Lower corporation tax encourages business start-
ups/higher profits for training 
 
BUT: 
 
Up to 2 marks per well-developed point: 
 
Time – very long time before benefits are seen. 
 
Potential for government failure – policy is ineffective 
(e.g. training is inappropriate for the needs of the labour 
market). 
 
Policies offer poor value for money (ineffective in terms of 
cost/job). 
 
Easier for firms to recruit trained labour from abroad. 
 
Some unemployment may be demand deficient. 
 
Reduced benefits may negatively affect those at risk in 
society. 
 
Max 4 without evaluation. 
Max 6 without clear data reference. 
 


8 AO1 2 
AO2 2 
AO4 4 
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Question Answer 
Mark 


allocation 
Assessment 


objective 


9 (a) By how much will imports fall as a result of the tariff? 
 
90m. (1) From 210m to 120m (1) 
Accept answers without millions. 
 


1 AO1 1 


 (b) What will be the government’s revenue as a result of 
the tariff? 
 
£600M. (1) 
Accept answer without millions. 
 


1 AO1 1 


 (c) With reference to the diagram, explain how domestic 
producers might benefit from the imposition of 
tariffs? 
 
Increase in producer surplus: Use of diagram(1), more 
profits etc. (2) 
 
Increase in domestic output: Use of diagram (1) –means 
more sales/revenue/profit. (2) 
 
Higher price of imports (use of diagram – specified(1)). 
allows greater profits for domestic firms (2). 
 
Reduced imports (shown/enumerated – use of 
diagram(1)) mean higher domestic market share (2). 
 


3 AO2 1 
AO3 2 
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